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Abstract

We give a algorithm and a UBASIC program which simulates the result of a vote using random number.
We treat also the case of a tie and show some examples.
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[4) KH#E¥] : UBASIC 86, #88.7H 21— —X<=27 N, HARFTH4L

5 70735 L0

ZO7ar I hi%, BASIC TREMZ LZEHBY TNV —F Y EHTWREV, ZDO72D,
N88BASIC i2 b T Sl &BEE 5, T/, BESTV—Fraflio7n s 7 2B ITH
EETZENTED,

YT, 77 aicdintT s#HBE <,

FE 1 (ssetteil) (1100—1170) PUF () MidfrHH i KT
VERMBERE M I
UREHE NICATIT 5,
TNEDOEEZR D E Lo

s 2 (xsettei2) (1190~ 1250)
HHeERE Al
REXK (%) % BIIANT 5,
FEDBFAZRYE Lo

H=100 L HEEHOREE % (1270)

R=10 & FIZEHRE ANTH 2 Mo ER%Z 2% (1280)

HUEEH (+setteid) (1310~ 1450)
BE KO (%) % XK KANT 2. K=1, .., M)
AEDOBATRVE Lo
XK) &, ERTCOESRICE LD D% ANET,

"5 7 OFMMRRE (1500 - 1680)
D=2+C/M & EF. Thi, 79 7 OHEEDERTH 5.
Milh, HEh, BB ERRT 5.

PERI R (1750 — 1850)
Xx (M) BE K OBEE® AN 5 R % E3%.
SM), TMM) BEHE K D7 S 7 DREE AN 5 Y % E Ko
Jun(M, 2) BeHliE K ONEN % AN 5 Bid) % & o
Hante (M) BB KM ELTWE L&) HET 55 % 8%
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MPEIZ 0 o BESRE DL 12 AND,
Kai (10, M) FREEZANBELTH) 1EYIab—YarybLill,
BHE K020 L & DHRFEHE AN LRI % 2o

I=1 Ffﬁ%i‘ﬁo
J=1 Tl 2R A5 B O 1 Ho

B (*Kaihyou) (1900 —2040)
T2 025 1 OBRPEL %S ANENICHIGT 2BHHICEEANTN
COVEEERBYET,
BEART T 52, HELEHTLHERICEL-E S ROBE (*Totyu) 12925,
v — ML (+Totyu) (2090—2180)
Jun(K, 1) IZi&#Hi#E KoEEx Ahd,
Jun(K, 2) (2EHiE K OB EOBERE AN D,
Jun(K, 1.2) 2HBEHOZVIEICHESEZ 5,
TEHEE (2200 -2230)
L, BEMT LRI, BZERT (+Syuryol) 2925,
X(K) EgHE K OBEENTOANREE ANLb,
HiE (2260~ 2330)
B K A4 E 2 R0 Cwiid, Hante(K) 121 % AR5,
bLZ=1 (ByIalb—varRoLE) 25618, YBHEIKS,
75 7%0OFR (2370 —2590)
B ORSEE, BHE KOoBERE, UBIE2EERT 5o
HRERE TCOREHROBIVEDY) 2T T TRRT 5o
B («Kaihyou) 2% (2600)
BT (xSyuryol) (2650 —2700)
BEKDOE -7 N ADBLETLOT, FROHDAIZ Hante(K) 121 2 vitb,
LU, BEESNFHOANE NH1IFEBOAOHEENF UL 213, JeBE (+Kessenl)
NI DB
) Thewi s, #THER (*Syuryo2) ~H) D%,
PERE («Kessenl, *Kessen2) (2730 2910)
BEZEPENEZEBOALFAULALZRRS,
TR (+Syuryo2) (2950~ 3100)
BHE KOBERE, SBIEHPERRT S,
BEHOBVEDLYEZ 75 T7FRTS, bL, BEESNFHOAEN+1IFHOAD
BEESELE &, RBFREOFRR (xKessen3) ~I) Db,
FATHRWED, Y32l —Y g VT (GSyuryo3) ~H 25,
RBEEDFER (+Kessend) (3120 -3220)
BB B EINLBEMELERT %0
YIab—3a YT (+Syuryo3) (3260—3400)
BYyIalb—va YOREIF0ENGEL ThiUE, #T (0warl) ~) 2%,
EEE2 ANT, I 1EYIaL—YarLivne 3, FEE ¢Tuduk) ~9 2%,
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BT L7zwE &, 87 GOward) ~9 D5
BYyIal—¥ary (*Tuduki) (3450 —3460)
B2 (ssettei5) (3480—3520)
HEOREFE AT 5,
AHEDBEIPDEL,
BEH (rsettei6) (3540—3710)
Bt K OBAEDORER L Kai(Y, K) ICANT 5,
Yid, ByIalb—varyLiE# +1Thb,
AEOBEIPHVE L,
757 OFFE (3760 —3970)
Rk, A, HBED2RRT 5.
R COREROBYEDNZ VI T7FERT 5o
PPREO ANEL (4010 4060)
LA E (4080 —4090)
PAESR A ANEERT, HEESHDPHET 5o
Z=1DfE% - T, *Totyu~9) 25,
75 7% 0OFFR (4130 - 4410)
BAEOHEZRT TCORBEE K OBRERLE, UBEITLEFERT Do
BAOMERE COBIEFROR VLD %7 T TRRT S,
Ta TS A —WEILT B, {10 # IS IEIT A I EATE B,
WHEDOANE L (4460 — 4530)
T (+Owari) (4580 - 4590)

6 70 %5 35 L

1000
1010 BT LYI2b—Ya vy

1020  ’ Programed by UBASIC

1030 ’DOS/V T J I RD & 5122960172 S E L,

1040 ’29654TRAFITIMZ B &, e £,

1050’ 2960 locate 0,0:print” ”

1060 ’ 2965 locate 0,0

1070 e oo
1080

1090 HIHAERE

1100 =Setteil

1110 cls 3

1120  locate 0,0

1130 print "3 EMH L7,

1140  input M




1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540

BEOYEFHRTUT T A

print 724 #E UL
input N
if M<=0 or N<=0 or N>=M then print "ERROR!!":goto *Setteil
*Seftei2
print "HMEEEIL”,
input A
print "FREE (%) 137
input B
if A<=0 or B<=0 or B>100 then print "ZERROR!!":goto *Settei2
C=int (A*B/100)
H=100 "HEE B O M Fa
R=10"FZE#H% AN 5 EH D LR
"RIERR
dim X (M)
S=0
print "HIEFH (CLEMER (%)) 1
K=1
while K<=M
*Setteid
print K;” A\ B o84 &;
input X (K)
if X (K) <=0 or X (K) >=100 then print "ERROR!!":goto *Settei3
S=S+X(K)
K=K+1
wend
for K=1to M
XK =X(K) /S
next

3

>

21

’

757 DM
screen 1

console 0,25,0

cls 3

D=2+C/M

view (0,0)-(590,380)
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1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930
1940

thik AOKE, WREF

window (0,-D)-(100,0)
line (0,0)-(100,0),7
line (100,0)-(100,-D)
for I=0 to 100 step 10

line (L,0)-(I-D/50)
next
for 1=0 to 10

line (100,-1¥*D/10)-(98,-1*D/10)
next
locate 0,32:print ”0”;
locate 36,32:print ”50”;
locate 73,32:print ”100”;
locate 73,0:print int(D);
locate 73,11:print int (D/2);

i

>

=81

PR R E
randomize
dim Xx (M)
dim S(M)

dim T(M)

dim Jun(M,2)
dim Hante (M)
dim Kai(RM)
I=1

J=1

X=1

Y=2

i

5

]

e
*Kaihyou
while (I<=C)
T=rnd
S=0
K=1



1950
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340

BEOLEPETOT T L

while (K<=M)
S=S+X (K)
if S>=T then goto *A
K=K+1
wend
*A
Xx (K) =Xx (K) +1
if I=C or I=H#J then goto *Totyu
I=I+1
wend

’

H
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" — NILEE RS A E)
*Totyu
for K=1to M
Jun(K,1)=K
Jun(K,2) =Xx(K)
next
for K=1 to M-1
for L=K+1 to M
if Jun (K,2) <Jun (L,2) then swap block Jun (K,1..2) ,Jun (L,1..2)
next
next
if I=C then goto *Syuryol
forK=1to M
X (K)=Xx (K) / (H*])
next

VHE
*Hantei
if Hante (Jun (X,1) ) =1 then X=X+1
SS=0
for K=X+1 to N+1
§S=SS+Xx Jun X,1)) Xz Jun(K,1))
next
if SS>C-I then Hante (Jun (X,1)) =1:goto *Hantei
if Z=1 then return

i
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2350

2360 '

2370 locate 0,0

2380  print ”BAZE”;:print using (3,3) ,100+H*J /C;:print " T D A&
2390 forK=l1to M

2400 if Hante (K) =0 then goto *T1

2410 color K@6+1:print "-------- s

2420 color 7:print "EHE" K HF 7,

2430 print using (1,4) , Xx (K) / (H+J);

2440 color 4:print ”243% | ! ":color 7:goto *Tugil
2450 *T1

2460 color K@6+1:print ”-------- i

2470 color 7:print "EHIH" K EF 7
2480 print using (1,4) Xx (K) / (H+])

2490 *Tugil
2500 next
2510

2520 for K=1to M
2530 line (S(K) ~T(K))-(100«H*]/C,—Xx (K)) ,K@6+1
2540 S(K)=100«H*J/C

2550 TK) =Xx (K)

2560  next

2570

2580 J=J+1

2590 I=I+1

2600  goto *Kaihyou
2610

2620

2630

2640 CRIERT

2650  *Syuryol

2660 forK=1to N

2670 Hante Jun (K,1)) =1
2680  next

2690  if Xx Jun(N,1))=Xx (Jun(N+1,1)) then goto *Kessenl
2700  goto *Syuryo2

2710

2720 PuREE

2730  *Kessenl

2740  K=1



2750
2760
2770
2780
2790
2800
2810
2820
2830
2840
2850
2860
2870
2830
2890
2900
2910
2920
2930
2940
2950
2960
2970

- 2980

2990
3000
3010
3020
3030
3040
3050
3060
3070
3080
3090
3100
3110
3120
3130
3140

BEOLUBRTFETTT T A

Kk=1
Hante Jun (N,1)) =0
while K<N
if Xx Jun(N,1)) <>Xx (Jun (N-K,1) ) then goto *Kessen2
Hante Jun (N-K,1)) =0
K=K+1
Kk=Kk+1
wend
*Kessen2
K=2
Kkk=1
while K<M-N
if Xx Jun (N,1)) <>Xx (Jun (N+K,1)) then goto *Syuryo2
K=K+1
Kkk=Kkk+1
wend

’

H
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*Syuryo2
cs1DOS/VIE, TZZ2HhEELTLEIW
print "B 45 &

forI=1toM
if Hante (I) =0 then goto *T2
color I@6+1:print ”-------- iR
color 7:print "% ”;1 % H O#AFE =" Xx (D) ;
color 4:print "24;% | | ":color 7:goto *Tugi2
+T2
color I@6+1:print ”-------- "
color 7:print "EHIE"L"%F B OB ="Xx (D)
*Tugi2
next
if Xx Jun(N,1)) =Xx (Jun (N+1,1)) then goto *Kessen3

goto *Syuryo3
*Kessen3

print

print "R EP 5"
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3150 for K=1to Kk

3160 print "EM#E " Jun (N-K+1,1);",”;
3170  next

3180  for K=1to Kkk

3190 print "EHE”; Jun (N+K, 1),

3200 next

3210 print” @ " Kk+Kkk;" 412 & 5 e i
3220  print 3% D #E17KK D7

3230

3240
3250
3260  *Syuryo3

3270 forK=1toM

3280 line (S(K),~T(K))-(100,~Xx (K)) K@6+1

3290 next
3300
3310  print

3320 print”¥Ialb—YasETI L

3330  if Y=R goto *Owari

3340

3350  *Setteid

3360 print” 1 : BAESEE AN TEIT S 2 TRT 7
3370  inputQ

3380  if Q=1 then goto *Tuduki

3390  if Q=2 then goto *Owari

3400 print "ERROR!\”:.goto *Setteid

3410

3420
3430
3440 "HYIalb—vav

3450  *Tuduki

3460 «cls1

3470

3480  *Setteid

3490 print"BHADOKHEE (%) k7?7

3500 inputU

3510  if U<=Kai(Y~1,0) or U>=100 then print "ERROR!!":goto *Setteib
3520 Kai(Y,0)=U

3530

3540  *Setteib



3550
3560
3570
3580
3590
3600
3610
3620
3630
3640
3650
3660
3670
3680
3690
3700
3710
3720
3730
3740
3750
3760
3770
3780
3790
3800
3810
3820
3830
3840
3850
3860
3870
3880
3890
3900
3910
3920
3930
3940

BEOURTEIOT T A

print "B E R U % TOBERKIL »”
print "B ZE#1L”int (C+U/100) " ¢9”
print "#&72137:int (C*U=5/10000) " ZE AN T BV L $977
K=1
S=0
while K<=M
*Settei?
print K;” \ H OB4%";
input Kai (Y,K)
if Kai (Y-1,K) >Kai(Y,K) then print "ZERROR!!”:goto *Settei?
Xx (K) =Kai (Y,K)
S=S+Xx (K)
K=K+1
wend
if abs (S-C+U/100) >C+U*5/10000 then print "ERROR!!”:goto *Settei6

27

75T DERE
cls 3
view (0,0)-(590,380)
window (0,-D)-(100,0)
line (0,0)-(100,0) ,7
line (100,0)-(100,-D)
for I=0 to 100 step 10

line (L,0)-(I,~-D/50)
next
for I=0 to 10

line (100,-1+D/10)-(98,-1*D/10)
next
locate 0,32:print ”0”;
locate 36,32:print "50”;
locate 73,32:print ”100”;
locate 73,0:print int (D) ;
locate 73,11:print int(D/2) ;
forK=1toY

forl=1to M
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3950 line (Kai(K-1,0),-Kai(K-1,L))-(Kai (K,0) ,-Kai (K1) ) ,L@6+1
3960 next

3970  next

3980

3990
4000
4010 =S

4020 X=1

4030 Z=1

4040 forK=1to M
4050 Hante (K)=0
4060 next

4070

4080  gosub *Totyu
4090 Z=0

4100

4110 7
4120
4130  locate 0,0

4140  print "BIEESR”;:print using (3,3),U;:print " C DB R
4150 forK=l1to M

4160 if Hante (K)=0  then goto *T3
4170 color K@6+1:print ”-------- s
4180 color 7:print "BEME" K HF %
4190 print Xx (K);

4200 color 4:print ”24:# | | ":color 7:goto *Tugi3
4210 *T3

4220 color K@6+1:print "-------- 7,
4230 color 7:print "EHE K& 7
4240 print Xx (K)

4250  *Tugi3

4260  next

4270

4280  print

4290  if Hante (Jun(1,1))=1 then goto *G
4300 print”EEZFFLEVEEA”
4310  goto *Tugid

4320

4330 =G

4340  for K=1to X-1



REOURFHETO ST A

4350 print "E#%E”;Jun (K,1);”, 7;

4360 next
4370  print "OYFENPF Y F L2
4380 °

4390  #Tugid
4400 print "fl0 2T LV Ialb—TarzihoId”

4410  stop

4420

4430
4440

4450 CHIBMEO TR E
4460  Y=Y+1

4470  J=int(S/H)+1

4480 forK=1to M

4490 S(K)=U

4500 T(K)=Xx (K)
4510 XXK)=Xx(K) /S

4520  next

4530  goto *Kaihyou
4540

4550

4560

4570 T

4580  *Owari
4590  end






